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* RR company is a very profitable- small business. It has not, however, given much
consideration to internal control. For example, in aﬂ. attempt to keep clerical and office
expenses to a minimum, the company has combined the jobs of cashier and bookkeeper. As
a result, Jake handles all cash receipts, keeps the accounting records, and prepares the
monthly bank reconciliations. ‘
The balance per the bank statement on October-31, 2008, was $18,180. Outstanding checks
were: #62 for $126.75, #183 for $150, #284 for $253.25, #862 for $190.71, #863 for
$226.80, #864 for $165.28. Included with the statement wavs a credit memorandum of $400
indicating the collection of note receivable for RR by the bank on October 25.

The company’s ledger showed one cash account with a balance of $21,892.72. The balance
included the undeposited cash on hand. Because of the lack of internal control, Jake took
for personal use all of undeposited receipts in excess of $3,795.51. He then prepared the

following bank reconciliation in an effort to conceal his theft of cash.

Bank Reconciliation

Cash balance per books, October 31 $21,892.72
.Add : Outstanding checks
#862 $190.71
#863 - 226.80
#8364 165.28 482.79
’ 23,375.51
Less : Undeposited receipts 3.795.51
Unadjusted balance per bank, October 31 18,580.00
Less : Bank credit memorandum 400.00
Cash balance per bank statement, October 31 $ 18.180.00

Required :
(1) Prepare a correct bank reconciliation.
(2) Indicate the ways that Jake attempted to conceal the theft and the dollar.amount

pertaining to each method.
(3) What principles of internal control were violated in this case? (18%)

+ Calder Company, the lessor, enters into a lease with Darwin Company, the lessee, to
provide heavy equipment beginning January 1, 2008. The lease terms, provisions, and
related events are as follows: The lease is noncancelable, has a term of 5 years, and has no .
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renewal or bargain purchase option. The equipment reverts to the lessor at the termination of
_ the lease. The cost and fair value of the equipment to the lessor is $400,000 (useful life is 6
years) . The annual rentals are payable_at the end of each year. The interest rate implicit in
the lease is 12%. The equipment will have.an estimated unguaranteed residual value of
$20,000 at the end of the fifth year of the lease. The Darwin Company agrees to pay all
executory costs, which are expected to be $1,100 annually, including property taxes of $500
and insurance of $600.
The lessor incurs no material initial direct costs. The collectibility of the rentals is reasonably
assured, and there are no important uncertainties surrounding the amount of unreimbursable
cost yet to be incurred by the lessor. Darwin’s incremental borrowing rate is 10% and it uses
the sum-of-the —years’-digits method to record depreciation.on similar equipment.
The following present value factors are relevant: .
10% 12%
Present value of an ordinary annuity of $1 for 5 periods 3.7908 3.6048

Required:
(1) Compute the annual rental amounts.
(2) One the book of Calder, Prepare all the journal entries for the years 2008 and 2009.

(20%)

= ~Dean Co. at the end 0f 2010, its first year of operations, prepared a reconciliation between

pretax financial income and taxable income as follows:

* Pretax financial income $ 200,000
Estimated litigation expense 500,000
Installment sales (400.000)

Taxable income $ 300,000

The estimated litigation expense of $500,000 will be deductible in 2012 when it is
expected to be paid. The gross profit from the installment sales will be realized in the
amount of $200,000 in each of the next two years. The income tax rate is 30% for 2010
and 40% for 2011 and 2012,
Required:

Prepare the journal entry to record income tax for the year of 2010. (12%)
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“Yuntech Company sells televisions at an average price of $750 and also
offers to each customer a separate 3-year warranty contract for $75 that
requires the company to perform periodic services and to replace
defective parts. During 2007, the company .sold 300 televisions and 270
warranty contracts for cash. I t estimates the 3-year warranty costs as $20
for parts and $40 for labor and accounts for warranties separately.
Assume sales occurred on December 31, 2007, income is recognized on
the warranties, and straight-line recognition of warranty revenues occuts.

Instructions . A .
(L) Record any necessary journal entries in 2007. _
In 2008, Hutech Company incurred actual costs relative to 2007
television warranty sales of $2000 for parts and $3000 for labor.
(2) Record any necessary journal entries in 2008 relative to 2007

television warranty . (7, & ;Z )
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£ Caqtefpillar Company sells a-machine for $7,400 under a 12-month
_warranty agreement that requires the company to replace all defective
parts and to. provide the repair labor at no cost to the customers. With
sales being made evenly throughout the year, the company sells 650
machines.in 2009 (warranty expense is incurred half in 2009 and half in
2010). As a result of product testing, the company estimates that the
warranty‘ cost is $370 per machine ($170 parts and $200 labor). "

Requlred
Assuming that actual warranty costs are incurred exactly as estimated,
what journal entries would be made relative to these facts.
(1)Under application of the expense warranty accrual method for:

(a)Sale of machinery in 20097 -

(b)Warranty costs incurred in 2009?

~ (c)Warranty expense charged against 2009 revenues?
(d)Warranty costs incurred in 20107 A

(2)Under application of the cash basis method for:
(a)Sale of machmery in 20097
(b)Warranty costs incurred in 20092
(c)Warranty expense charged against 2009 revenués?
(d)Warranty costs incurred in 20107 (>57)
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